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INSTRUCTIONS
Answer all questions.
All questions carry equal marks,
Only one answer is to be given for each question.
If ‘more than one answers are marked, it would
be treated as wrong answer. .
Each question has [our alternative responses

- marked serially as 1, 2, 3, 4. You have to darken

onty one ¢ircle or bubble indicating the correct
answer on the Answer Sheet using BLUE BALL
POINT PEN. _
1/3 part of the mark(s) of cach question will
be deducted for each wrong answer. (A wrong
answer means an incorrect answer or more than
one answers for any question. Leaving all the
relevant circles or bubbles of anv question blank
will not be considered as wrohg answer.)

The candidate should ensure that Serics Cade of

the Question Paper Bocklet and Answer Sheet

must be same alter opening the envelopes. In
case they are different, a' candidate ‘must obtairi
another Question Paper of the same series.

Candidate himself shall be-responsible for

ensuring this. _

Mobile Phone or any other electronic gadget in

the examination hall is strictly prohibited. A

candidate found with any of such objectionable

material with him/her wilt be strictly dealt as per
rules. ' :

Please correctly £l your Roll Number in O MR,

Sheet. 5 marks will be deducted for filling wrong

or incomplete Roll Nurmber,

Warning : If a candidate is found copying or if
any unauthorised material is found in
his/her possession, F.LR. wouid be
lodged against him/her in the Police
Station and he/she would liable to be
prosecuted under Section 3 of the
R.PE. (Prevention of Unfairmeans)
Aect, 1992, Commission may also
debar himther permanently from all
future - examinations of the
Commission. '
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- @)moresus
26 Many diseases were formerly attnbuted thchcra The. correct 5 g
preposition to fill up blank is : o )

(D) Into @) To

@ of @) For - 58
27  The correct English translation of the sentence ' ' -
-_.‘éﬁq@ﬁ@ﬁlﬁ%’ would be 58

(1)  Santosh plays flute very well.
(2) . Santosh plays hard on the fiute.
(3) Santosh plays well on the flute.
(4j Santosh is a goed flute player.

28  Which of the following translations does not match correctly ?

(1) o & G’H‘;‘f e 'rl?f - He had not made up his
< o Fryem T R an mind to take the examination till
_ ' - ' yesterday. '
(2) 9 9 Rgw @ N - He drank little tea.
() qF S W % o I/ E - Sitais sitting besides her mother:

4) I F mazrrg Y fvw & ¥i - The climate of this place does

agree with me.

29  Which of the following sentences contains an error ? -
(1)  Every boy and Every girl in our village go to school.
(2) What I say and do are none of your concerns.
(3) Bread and butter have gone up in price. '
(4)  The majority of the students are boys. -

30  Which of the followfng is an incorrect sentence ?
(1) Of all men, he is the strongest.
(2) No fewer than fifty miners were killed in the a001dent
(3) He has the lightest touch of any musician,
(4) Which is the better of the two ? ,
| " indiresult.in whatsapp - 9352018749 58

31  Which sentence contains an incorrect use of a conjunction / connective ?

(1) 1 see you oftener than him. : o 58
(2) I shall not go without you do. ' .
(3) He fled lest he should be killed., o 8

(4) He was annoyed that he was contradicted,

Cfa INDIRESULTE
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© (2) Rarely he has discussed the subject with me.
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Which of the following sentences contains no error ?

(1) We felt the whole building to vibrate. N
(%) INDIRES
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(3) He insisted on my accompanying him.
(4) He is my cousin broth_er.

The correct synonym of the word Attenuate' is :
(1) Fawn ' (2) Delay
(3) Dispute (4) Weaken

The correct synonym of the word "Perfunctory’ is .
(1) Half - hearted _ (2) Prompt
(3) Thorough ' (4) Stern

' Some words and their antonyms are given in the same line. Which of them

does not match correctly ?
(1) Vicarious - Actual (2) Rationalization - Justification
(3) Gregarious - Solitary (4) Obsequious - Rude

Qut of the four options given here which word would be miost likely to say
the following ?

" I'm getting out of here. This place is so small, I think the walls are going.
to crush me !" '

(1) Acrophobe - le 7'L (2) Agoraphobe
(3) Claustrophobe . (4) Hypocondriac

Which of the following sentences contains an incorrect word ?
(1) 1 visited the site for the cite - seeing tour.

(2) Except Suresh everybody else accepted the ‘proposal.

(3) She found the living conditions inhygenic. ,

(4) The book was proscribed in India.

Which of the following words does not have a correct pre - fix ?
(1) Valuation - Devaluation (2) Legitimate - Tliegitimate
(3) Human - Superhuman (4) Ordained - Inordained

indiresult.in'whatsadpp - 9352018749

Which of the following words does not have a correct suffix ?
: 58 (1)  Authority - Authoritarian (2) Beauty - Beautious
5 8 (3) Priest - Priesthood (4) Statue - Stautuely
58-C_B] _ 6 : [Contd...
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Ram classes regularly since July, _ ) E 38 _
(1) Attended (2) Had Attehded' '

(3) Has been attending . (4)  Attends | - 58

He helped him more than he _ __ his.own children.

(1) Helped @) Wil help | 5 8

(3) Wil have helped | (4) Helps

Which of the following is not a passive construction ?

(1) Let the order be given (2) He is gone

(3) When is the mail delivered ? (4) Must this tree be cut ?

What happens when a sentence contalmng two objects (in the active voice)
is changed to passive voice ?

(1) It is not possible to changé it into. active voice. _

(2) Both the objects become the subject in the passive voice.

(3) Either object may become the subject of the passive construction, while
the other object is retained. _

(4) Insuch cases one of the objects is removed in the passive construction.

- Which of the following sentences in indirect narration is not correct :

(1) He said that he lived many years in China.
@) " He exclaimed sadly that he was undone.
(3) The policeman enquired of the man where was he going,
(4) He shouted to them to let him go. |
indiresult.in whatsapp - 9352018749
Which of the following does not match correctly ?
Direct speech Indirect speech
(1) 'Let's punish that boy', said L
(2) He said, 'you needn't wait.'
(3) She said, ' go for walk

I suggested punishing the boy. _ :
He said that I needn't to wait, 5 8
She said that she goes for walk

every morning'.- - every morning,

(4) Ashok to Mohan : - Ashok asked Mohan whether he _ 58
'Can't you return it - couldn't return it the next day.
tomorrow T S : . 58
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‘Which of the following pairs of sentences is not a correct transformatlon

from Interrogative to Assertive.
(1) What though we happen to be late ?
It does not matter though we happen io be late.
) Why waste time in reading trash ?
It is extremely foolish to waste time in reading trash

(3) Were we sent into the world simply to make money ?

The reason why we were sent into the world was to make money.
(4) When can their glory fade ?
Their glory can never fade. /”)\ l '
' w

Which of the following pairs is not a correct transformation from exclamatory
to assertive sentence ?

(1) O that 1 were young again |
I wish that I were young again.

" (2) Alas that youth should pass away !

It is sad to think that youth should pass away

(3) How beautiful is night !

Night is very beautiful. _
(4) To think of our meeting here !
It is strange lest we should meet here. -

hich of the following correctly describes a determiner ?

(1) T is a type of noun. o

(2) It is a hinking word. :

(3) It is a word which precedes a head word in a noun phrase.
(4) Tt is a word which follows a head word in a noun phrase.

In which of the following sentences articles have not been used correctly 7
(1) The play was interesting from the beginning to end.

(2) The saint's prayer was for the welfare of humanity.

(3) He invited me to lunch.

(4) Ts woman, really the weaker sex 7

indiresult.in whatsapp 9352018749

_Few things are impossible . _ ___ diligence and skill. The preposition
that fits into the blank will be : _ .

(1) At : {2) With
G) T | @ By

8 o [Contd...
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5 8 51 In which matter Rajya Sabha is equally powerﬁJI with Lok Sabha 7%
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58 (I) Money Bill . (2) Removal of Vice President
' (3) No Confidence Motion (4) Constitutional Amendment Bill -
58 o wme ¥ wow @ A e ¥ wge sReeT Y 2
B W w i @ st @ e
5 8 @) ofgEmw yam 4) wheuE wsiem R
52  Among the following, which is not a recogﬁised National Political Party ?
Y S_amajwadi Party (2) Bahujan Samaj Party
(3) Communist Party of India (4) Nationalist Congress Party
Preifter & ai wr T T <orhe T Y 7
(1) wEeEEr U@ (2) I g U
3) 'mraﬁuwﬁemﬁ @) g Fhe o

53 Number of seats reserved for scheduled Tribes in. the present Rajasthan
Legislative Assembly is

1y 27 _ (2) 29
- @3) 31 @) 34

aﬁwwwﬁmwﬁaa@awﬁﬁ%mm@aﬁm%

W 27 | @ 29

G3) 31 | | 4) 34

34 . Chairperson of the National Human Rights Commission is

(1) S. Y Quraishi _ - (2} K G Balakrishnan
(3) = Wajahat Habibullah - 4 J S Verma

W A~ afuw ot % et ¥

(1) @& En's“. Cacl (2) % N AP
- (3) TeEd g @) <. Ty T4 -

indiresult.in whatsapp 9352018749
5 8 55  The highest oﬂicer in the hierarchy of Rajasthan's Beurocratic set up is

(1)  Chief Secretary (2) . Principal Secretary -
_ (3) Cabinat Secretary - - {(4) Secretary to Chief Minister
58 R B e wen ¥ v § wdier ot ¥
8 0 T e - @ e e
©) e whm - @ uhmE, gerh

[Contd...
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Which of these is the southern and lowest part of I—hmalayas ? _ 5 8
- (1) Trans Himalayas o (2) Lesser Himalayas

(3) Siwalik " (4) Great Himalayas

T B4 feer 1 SRl T PR

(1) 7@ fEw @ ﬁnm@!!‘!R‘ﬁE§H!—T%8

3) Rrenfae - @) wEm e 8

The highest Gold producing state in India is _ 58

(1) Andhra Pradesh - (2) Karnataka '

(3) Tamil Nadu (4) Orrisa

T & w9 afye @ SaRw T ¥

(1) oI W& (2) s

(3) wwrTg - @ sdm

Among these which is not a Centre of Paper Industry ?

(1) Delhi - '(2) Nepanagar

(3) Titagarh (4) Banglore

s?rﬁr@ra?wmqmwaﬁmw%mﬂé’t% ?

(1) & | (@ W

(3) =T - @) IR

The direction of the Aravalli ranges in Rajasthan is :
(1) North - East to South - East - (2) South - West to- North East -
(3) North - West to South - West (4) South - West to North - West

T e S W@ R ¥ -
(1) we-d ¥ afer-gd 2) oo ¥ SR
() wae-ufyan g afur-ufyem (4)  <for-ufiem ¥ ST-uiyad

Which of these is the percentage decadal growth of population in Rajasthan

during 2001-2011 ?

(1) 3297 _ (2) 28.44
(3) 2841 (4) 2144
T W 2001-2011 F el weEEn ghe @ aiaeE = 9 ﬁﬂ—m 7
(1) 3297 ° (2) 28.44
(3) 28.41 : 4) 2144

*indiresult.in whatsapp - 9352018749 ' 58
In Rajasthan, the first cement factory was established at :
(1) Beawar (2) Sawai Madhopur ' 58
(3) Lakheri (4) Nimbahera _ 58
T H W @i g et ﬁh'm T o |
(1) =mEH (2 war AehgR § 58
@) gl 4 Frre A : 5 8
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At the time of Alauddin Khalji's victory over Jalore, who was the ruler
of Jalore 7

indiresult.in whatsapp - 9352018749

Which of the following is the forerunner of Modern Tamil Literature ?

(1) Kamban | (2) Krishnamurti 5 8

(3) C. Rajagopalachari =~ (4)  Subramaniam Bharti 8
W) wE | @) Fo | 9

(3) W e (4) YoETvoy A

YOUR SUCCESS PARTHNER
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(1) Viramdev ' (2) Kanhardev 58
(3) Sheetaldey (@) Hammirdey 58
FRREN TS W ST fre & @ e F1emaw a1 - 58
(1) e | () wrEsed A8
() siaece : (4) TET
Which was the ancient capital of Parmars of Abu ?
(1) Sirohi ' ' (2) Pindwara
(3)  Shivgan; (4) Chandrawati
Y, F IRA B qeE e oA |
(1) Fodr 2) fizaw
@) firrw (4) TREa
In which language Mahatma Gandhi wrote his autobiography ?
(1) English - (2) Hindi
. (3) Gujarati ‘ (4) Urdu
IS 7 oI s fhw W § fdt ¢
1) sie @ R
@) TR - @ %
Where was Gadar Party founded ?
(1) England _ (2) USA.
(3) Germany , (4) India
T U BT T R gS 7
(1) v § . 2) i &
@) wth ¥ | (4) ART ¥



58
58
58

58
58

i1

5%
58

53

67

68

69

70

" indiresult.in whatsapp -_9352018749

"The ruins of which great empire can be still found in Hampi ?

(1) Vijaynagar (@ Chole ’ :
(3) Chalukya @ BahamaniC{./a IN DlRESL!!_'I:E
Tl ¥ fpg weM qEg % @ueet o ol HivE ¥ ?
() e 2) = |
(3) g | @ e
Target of 11" Five Year plan is to achieve Literacy rate.
(1) 70% - | 2) 7%
(3) 80% @) 8%
 qeRan & s e 110 duadia die @ we ¥
(1) 70% S Q) 15%
G)  80% o (4) $3%

According to census data of 2011, the growth rate of population in Rajasthan is

(1) 15.60% o (2) 2144%

G) 2234% | @ 23.71% |

2011 <Y TRTUIN 3 SHTFe) o STTa, Toe § wder — gha s ¥ _
(1) 15.60% : (2) 2144%

(3) 2234% @) - 2371%

‘Which welfare scheme has been launched on October 274 2011 by Rajasthan .

-Government ?

(1) Mukhya Mantri Grameen BPL Avas Yojana

(2) Mukhya Mantri Nishulk Dava Yojana '

(3) Rajasthan Janani - Shishu Suraksha Karyakram
(4) Mukhya'Mantri Ann Suraksha Yojana _
ORI AR TR 2 $EaT 2011 &1 6 searomilt a1 garew fesan
Tqu? indiresult.in whatsapp - 9352018749 |
(1) ger ol @, @ T, otEr qer |

(2) TEEEE Ry T g

@) o s - Ry g wrwa .

4) Tewd & gRa A
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71  The author of "No Higher Honor' is
(1) Hillary Clinton (2) Julia Gillard -
(3) Angela Merkel (4) Condoleezza Rice
R A e | 58
(1) feord e @) S e 53
(3) S whw (4) WiSwi T 5 8
72 Which Satellite has been launched by India on October 129 2011 to study
the water cycle and energy exchanges ?
(1) Megha - Tropiques (2) 'STUDSAT
(3) Jugnu (4) YOUTHSAT
W wh G Sl el % st & Rg 12 ereaR 2011, # WS @
foow STE @ gdww e ¥
(1) - Zfte 2) gsue
3) T . 4) yuse
73  'Zuccotti Park' is situated at
(1) Bedin  (2) Geneva
. (3) New York (4) Paris
(1) affTF | (2) SHfran #
(3) =gars o | - @) uhw ¥
74  Who has been apj:o'inted as a chairperson of Rajasthan women - Commission
recently ? .
(1) Prof, Pawan Surana (2) Prof Lad kumari Jain
(3) Prof Girija Vyas (4). Smt. Mamta Sharma
- ET W H o — AR — ST Y srene RRd Prgae R d 7
(1) W T g (2) WIBE TR FER A
(3) wrpER fifien =mm @ e Ear sl
The maximum period for which Emergency Proclamation under article 356
can continue is. indiresult.in whatsapp - 9352018749 o
(1) 6 months' . (2) 1 year 58
(3) 3 years | (4) 6 years - ' 58
a@z%ﬁ%aﬁammwmmﬁ%ﬁwmﬁrﬁ 58
1) 67 @ 1'a1sf : 58
(3) 3 sz | : (4) 6ad - 5 8
58-C_B] 13 [Contd...
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76  Which of the following has lowest electrical resistivity at room temperature ?
(1) Aluminium _ ' (2) Copper .
(3) Nichrome . (4) Iron (./'/“ '
(1) uegHHE (2) T
(3) gk (4) W
77 One of the following is not a source of Vitamin - C
(1) Milk (2) Amla
(3) Lemon - (4) Green Chilli.
frmfafed & % feiem - C @& Hia T8 ¥
(1) ¥ (2) sftEen
@) -y @ = fid
78  Select out the odd one |
(1) DPT - Vaccine | (2) DOTS - TB
(3) AB* - Universal donor ~ {4) Adrenalin - Hormone -
AT BN AT B _
-(1) DPT - 3= | (2) DOTS - &g
(3) AB" - I ' (4) wERRE - A
79 If | rhother i.s .carrier and father is normal, how many sons will be haemophilic ?
(1) 100% 2) 75% '
3) 50% : _ 4 25% : _
afy T v aor fen g @ & feay wewl # St S ?
(1) 100% 2y 7%
(G) 50% @) 25%
80 Chickengunya is a _ : '
(1) Hereditory disease (2) Deficiency disease
(3) Pathogenic discase (4) Congenital disease
(1) aEfEs A () HE I
() eFETE I . (4) e
81 One of the following is an example of IVE. '
(A) GIFT (B) Test tube baby.
() AID (D) ZIFT '
(1) (A)and (B) (2)- (B) and (D)
(3) (A) and (C) @ (A)and (D)
Rt § 4w IVF 6T S ¥ indiresult.in"whatsapp - 9352018749 .
(A) GIFT . - (B) @ e g
(C) AID : S (D) ZIFT
(1) (A) T (B) . (2) B 7w D)
3 @amE 4y (A)Tm (D)
58-C 14 [Contd...
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82  Select out the wrong pair C‘.:'/a |N DluRES QE_TE 5 8
(1) Dengue fever - - Thrombocytopenia -
() HIV _ DNA Virus s 58
(3) Colourblindness - Sex Linked disease : : 58
(4) Pineal body - Non functional third eye 5 8 |
M ¥wgEr - et | 58
(2) HIV - 2. U U uE | o
(3) Tt -~ T wew I |
4y TfEd e —~ el SR S
83 A device that converts mechanical energy to electrical energy.
(1) Inverter - (2) Dynamo
(3) Combustion engine - (4) None
o 9 S A B e e § e b
(1 TR - () sETE
(3) =& for @) g &
84 2-4Disa
(1) Weedicide (2) Insecticide
(3) Vaccine ' ' (4)  Malaria dmg
2-4D ¥, @ - |
(1)  gmmSh - (2) wreTeN
G) dm ) (4) AR shod
Statement A - In food chain energy flows in one way.
itjé?:lent B - The length of food chains is generally limited to 3 or 4 _tropic
(I) Both the statement are wrong, _
(2) Statement A is correct and statement B is wrong.
(3) ~ Both the statements are correct. _
" (4) Statement A is wrong and statement B is correct. . o
BIT A — @ FE § Sl yaw T Rew F gan ¥ |
%uT B —mﬁwﬁﬁm@'wmw3m4u‘r@rmﬁwxﬁﬁa58
w3 o . indiresult.in whatsapp - 9352018749 - 58
(1) <F wa o ¥ o 2
(2) HUT AT T w4 B TG ¥ |
@) 2w wd ¥ 8
4) ®ET AT G4 FHT B W 2

indiresult.in whatsapp - 9352018749
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The cause of minamata disease is

1) Pb (2) Hg WY ) iy M
@) Cd (4) CFC
e I6T BRI . |
(1) Pb (2) Hg
(3) Cd (4) CFC
Contribution of methane in global warming is
(1) 60% (2) 40%
3) 5% | 4) 20%
frggamdy sor § NeH & AR ¥

oy 6% () 40%
G) % 4) 20%
‘Pebrin is a disease of '

(1)  Aphids (2) Hen

- (3) Silk worm (4) Honey bee
At Rt F & Foam T Y P o
(1) qftegw @ i
(3) WH F B (4) wgEFdl
Select out the odd _
(1) Ranikhet - Viral infectious disease
(2) Karan Swiss - A breed of cow

~ (3) Pashmina - Sheep wool
(4) Apiculture - Honey bee rearing
ST B TAT B
1) @@ . - R S w0
@ wEfEw - W
@) ugim . - S W
@) ey 0 - AyEEd aed

Not concern with malaria
(1) Aedes mosquito

(3) Cincona tree
AT ¥ HEa T 2
(1) WS 7o

(3) T g

SSSSSSSSSSSSSS

.(2) Plasmodium
(4) Gambusia fish

indiresult.in whatsapp - 9352018749
(2) o

(4) el weelt
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;8 91
58

58
38
8

94

8 os
58
58

Which of the following are food and water borne diseases ?
(A) Tetanus -

(B) Cholera

(C) Amoebiasis :

(1) (A)and (B) @ (Wad(©

(3) (B) and (C) - (4) None of the above
et % & sfore aon s v 2 ¥ 7

(A) 439 3w | | -

B)

(C) ufyr (oriraam)

(1) (A) 71 (B) @ Wawm(©

(3) (B)qw (C) | (4) Il F wmig T
Propane with molecular formula C;Hg has

(1) 9 covalent bonds (2) 10 covalent bonds
(3) 8 covalent bonds (4) 11 covalent bonds
W H o g CoH, ¥ s B E .
(1) 9 wEEw ¥y . 2) 10 wevdo qy
(3) 8 wEudRTE dy | 4) 11 dsEeE ¥y
In which layer of ‘atmosphere 90% Ozon is found ?

(1)  Troposphere ' - (2) Stratosphere

(3) Ionosphere | - (4) Mesosphere
TS WY T T F 90% e ardt sy &
(1) dwiEw | (2) wHaEHSE

() T Yew (4) wurEy

Which of the following is non - metal ? _

(1) Gallium - (2) Indium

(3)  Aluminium (4) Nitrogen

P damommgt 7 o

(1) A L @ $Rem

@ ihdiresult.(ii)whatsapp - 9352018749
One of the following is not a web browser

(1) Mozilla firefox (2) Opera

(3) Google chrome (4) Yahoo

frofifes 4 & o a7 s i 8

(1) AT BRRHTR (2) e

®) T wm o @ g

5
)8

58-C_B]
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96 The body organ which synthesizes vit. D. YOUR succEss PARTNER
(1) Liver _ - (@) Skin :
(3) Thymus (4) Adrenal 58
arﬁ'(wawf%mfffazrﬁﬁD—mﬁaéwﬁm% -5
W T @ =@
(3) uE™ () T 5¢
97 In our houses, the AC changes direction o 5 é
1 - |
(1) Every 100 second (2) Every 100 seconds
_ 1 _ | |
(3) Every 30 seconds (4) Every 50 seconds
e ¥, weedt ura @ R wwwd ¥ |
. l ’ .
(D) uﬁmmawsﬁ (2) @@ 100 dwee
1 ' , - ' .
@) wiwm 5 dos A 4) w&E 50 deve ¥
98 Which of the following are not antioxidants 7 -
(1) Zinc and Selenium (2) Vit. Aand Vit. E
(3) Tron and lodine ‘ (4) Lycopene and Luteine
R & § B9 Y onfrsm T8 7 -
(1) e qean wwbEw @ Rt A g foafE E
(3) el qun SERE (@) wEEdE [ A
99  One of the followirig is not true regarding chloro'. - fluro - carbons :
(1) They are volatile organic compounds.
(2) They are also known as freon.
(3) They protect Ozon Layer in the atmosphere.
(4) They are used in refrigeration industries.
e % Prew A P ¥ ¥ O o g T8 ¥
YO rsagie HEA A ¥
@) 3% feelm & @d ¥
3) &aqmaﬁﬁaﬁ@mmaﬁg'(mm%%r
(4) mw@mgﬂwaﬁnﬁﬁﬁm%l
indiresult.in whatsapp - 9352018749 . 5é
100 One of the following is not a hereditory disease _ _
(1) Haemophilia . (2) Hypertrichosis . 5%
(3 Encephalitis : (4) Thalassemia SE
frer ¥ § B WITARE T T ¥ |
(1) . et 2) TRIEERIE 0
(3) wie=s T @) dedfEn 5 é

SS-C__B}C'./:// INDIRESU 18 -~ [Contd..
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101 If o and B are the roots of the'equation 2 —x—4=0, find the value of 58
1 1

B 5
16 8 : s

M — @ | 58
(3) ; | | (4 Noné of aboﬁe 58
A THHTT 1% ~x-4=0 % 9 o TF B @ T &+%—0€l3 1 AT A

16 B 8
(1) El 2) 5

s |

G 7 : (4) T ¥ & E

102 If a'and B are the roots x2 —x—2=0, find the quadratic equation in x
whose roots are (200+1) and (2B+1) |
M x24s5x-4=0 | @) x2_4x-5-0
3) x244 x=5=0 (4) None of above
afe Tlieer x? -~ x—2= 0%53 o Tl pB z’ra’uﬁag%maﬁwam
- i R g (200+1) T T (2B+1) &
() _x +5x—4=0 _ (2) x2~4x—-5=0
B) x2+4x—5=0 @ T B T

103 For any two numbers m, n
(m+n):(m~n):mn=7:1-60

Find the value of —Ll .

. m n . .
83 4:3 N . gg 8:6

3:4 : 7.8
Wiy a3 m,n B R - _ 58
(m+n):(m—‘n):mn=7':1:60 ar o ' .
LIS — s indiresult.in whatsapp - 9352018749 8¢
m n . . Y
(1) 4:3 ' 2 8:6 : 58
(3) 3:4 : (4) 7:8

58-C_B] 19 [Contd... 58
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5 8 104 6% more is gained by selling a coat for Rs. 1,425 then by selling it for
58 Rs. 1,353 the cost price of the coat is :

(1) Rs. 1,000 ' (2) Rs. 1,250 .
18 (3 Rs 1,500 (4 Rs. 1,200 |
08 qm@za&’rl,:%ssaqi‘r%saam1,4255q&ﬁaﬁ%'q16uﬁrsmmmmﬁa
| & T < @ @ W e ;T 7 o
58 (1) 1,000 T 2) 1,250 T9

(3) 1,500 TW - | @) 1,200 591

105 A sum of money doubles itself in 12 years. In how many years would it
trebie itself ? : '

(1) 36 years | (2) 18 years
(3) 24 years - (4) 15 years '
o ww v 1zaﬁﬁ§ﬁ€rwﬁr%a‘r%vﬁ1%%aéﬁﬁnﬁr
7 : '
(1) 36TW ¥ a ' @) 18w H
T @) 249w H @ 1sEwH

106 ‘A’ goes 10 km distance with average speed.of 6 km/hour while rest 20 km.
He travels with an average speed of 15 km/hour. What is the average speed
of ‘A’ during the whole journey. _ N
(1) 10 km/h (2 12 kmh
(3). 13 km/h 4 14.5 km/h

@ 10 Tea ® g 6 Fedydm B oia 9w ¥ Twar ¥ AW T
20 AL A Q 15ﬁﬁ.ﬁmﬁ-aﬁaaw@rqﬁm%a‘mﬁwﬁ‘w

1 ol =@ Bl _
(1 10 fedyder , Q) 12 ﬁﬁ.‘ﬂ/ﬁa
3 13 g Aifgen @ 145 ez

107 - ‘A’ can do a piece of work in 10 days ‘B’ can do it in 15 days, working
together they can finish the work in

(M 9 @2) 8
58 @) 10 @ 6 | |
09 ‘ax’qzﬁzsréa%_loﬁaaﬁ,‘{u’imm%am‘a’a@rzsr&a%‘rmﬁﬁf15
| ﬁaﬂm-%uﬁ‘a’_am‘a’m&xmiﬁﬁrwmzﬁrmﬁﬁa@fﬁ{u‘i

8 Y . indiresult.in whatsapp - 9352018749
L 58 M 9 : @ 8
5 @) 10 SRR @ 6

58.CB] /% 2 20 [Contd...
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108 —=D

A F

58
8
8
38

38

Each edge of the dube shown above has length n. What is the perimeter of

quadrilateral ABDE.

M 2n(1+43) | @ a3

O 4z @ an |
aﬁmgaﬁwa%mﬁtaﬁmna?ﬁﬂg‘gﬁABDvaﬁmqﬁm
(1 2n(1_+ﬁ) @ 3

(3) 4n1/§ ' @) 4n

109  Altitude and base of a right angle triangle are (x+2) and ( 2x+3) (in c.m.).
If the area of the tﬁangle be 60 cm?, the length of the hypotenuse 15
(1) 2lem 2 13 cm.

G) 17 em. ' @ 15cm,

T wh e Y S v e ma: (x+2) v (2x+3) @ H)
% luﬁﬁwmmso%ﬁz@?ﬁwa&mﬁ |

(1) 2134 : 2) 1394

G) 174 @) 1537

110 Area of a rhombus is 256 cm?. One of the diagonal is half of the other
' diagonal. The sum of the diagonals is

(1) 38cm . (2) 48 cm.

3) 28cm. - : 4 56cm .
.qas.wﬂgﬁaan%wmzsﬁﬁﬁrﬁ%aﬁsﬂ%@maﬁwww
ﬁm@ﬁmﬁﬁﬁﬁﬁM'wwm | |

) 3834 @ 48dW
(3) 28] (4) 56 5.

/ < indiresult.in whatsapp - 9352018749_
- 58-C_B] 77, LTE # | [Contd...
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5 8 111 In a rectangle ABCD, L divides the side AB in the ratio 1: 1 and M divides
the side AD in the ratio 1:2. LM is joined to divide the rectangle in two
58 parts. The ratio of the areas of larger part and smaller part is '

8 (@ 3:2 2) 4:1
58 3 3:1 _ 4 11:1
q%amaABCDﬁLgWABﬁlzl%mgmaﬁaMaWADm"rl:z
58 '%wﬁﬁﬁwﬁaw%wmﬁéﬁwmaﬁaaﬁﬁﬁuﬁa
: B féﬁmm%tma%wa@%wﬁﬁamzmaﬁﬂﬁ%
My 3:2 2) 4:1
G) 3:1 @ 11:1

112 What is the area of the triangle whose sides are 84 m, 80 m and 52 m?
(1) 1620 sqm. (2) 2016 sq.m.
(3) 1818 sq.m. - (4) 1616 sq.m.
wﬁgam%ww@mﬁaﬁgaﬁ g4 Bzt 80 Wex T 52 |
1) 1620 AL @) 2016 A
G) 1818 #reR? . (4) 1616 ez

113 The mean of a set of numbers of ¥ . If each number is divided by 3, then
the new mean is ' ' ' _ '

1 = . 2) T43

. X
(3) 3% . @ 3
@aﬁ%ﬁﬁgﬁmmmWY%u&‘fmmﬁ3%m%maﬁeﬁw
Hqeg F BT | | |
w3 ' | 2) x+3

' X

3) 3% @3

indiresult.in whatsapp - 9352018749

(1) Median (2) Mode

(3) Harmonic Mean (4) Mean
59 %aeiﬁmﬂawmﬁﬁammmﬂﬁmmﬁw%l?
() wftmar . (2) TEEs

55§ @(") T W (4) W

5 8 114 A statistical measure which cannot be determined graphically is

INDIRESULTH
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: 7 5 L
. : x_......, x...._..’ _ ‘ u .X'+—-,
115 If a variable takes discrete values x+ 4, 5 5 -3, x-2, 5 58

1 | N _
X, Xos ¥+5(x>0) then the median is - 58

_ | | 28
(1) x—; - | @) x*% 58

5

(3) x-2 4) x+Z
iy ' C ! x——S— .x+-l— x——l-
U I iy x_+4, X 5, > xf3, x—2, > X, >

x+5(x>0) B ot o s @ % wey i Ay

_s Sy L

(1) X_Z @) 5

e

(3)_ x=2 4) 2

116 The median can graphically be found from

(1)  Ogive (2) Histogram -

(3) Frequency Curve | (4) None of above
mmmm@mmmﬁwﬁﬁm_mﬁmmﬁw% P
1) gl areTan 9 (2) oy R

(3) SrawEr @) IR A YW

117 Ifin a moderately skewed distribution, the value of mode and mean are
61 and 9) respectively, then the value of the median is

() 8x @ 7Aa | -

3) 5.5 - | @ 15n 58 B
8

u&qmﬁm'émﬁ,wwm%wéﬁw: 6A W 9L % @ mitaem

1A g indiresult.in whatsapp - 9352018749 - 58
(1)  8i @ 7 | | 58
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118 Which one of the following statements is not correct 7
(1) Every integer is a rational number.
(2) Every natural number is an integer.
(3) Every natural pumber is a real number.
(4) Every real number is a rational number.

fy § A - G W T ¥ T

119 2¥3 s |
(1) a natural number : (2) an integer
(3) a rational number - _ (4) an irrational number
Py ' | e
(1) oF wpd @ @ P
() e W wen. C(4) Tw oo U
120 Which one of the following is a rational number T
@ (¥2) - @ 242
B) 2442 @ -4"2——
| ﬁr@rﬁf@rﬂﬁ-@fwﬁﬂﬁﬂm% ?
o (v2) | ® 243
©) 242 | ) 'J";

24 N .
121 A rational equivalent to 2Ty with denominator 25 1s

a =30 » 2%
e @ 7
a9 _ =15 - -
24 .
= @ i ages ¥ Rree W 25
50 indiresult.in whatsappm 9352018749
N == 3
M 25 _ : @ 25
59 o ' -19
® 5 - @ s -
2 | “[Contd...
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58
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123

124
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If 37 =27 ‘then 3772

5 r '4 .
(3) 5 | K&
A 37 =27 v 372 &
{1) 3 _ () 3
(3 1 ' 4) 9
) 9 _ @
Find the sum of :
222,224,226, . ... , 888 _
(1) 1,85370 (2) 1,95300
(3) 1,83.000 (4) 8,99,000
222 224,226, ... o , 888
(1) 1,85370 @) 1,95300
(3) 1,83,000 ©{4) " 8,99,000
Find the 7t term of the series
N
.8 4 2 _ _
1 8 . - 2) =16
(3) -8 ' (4) None of these
I W 7a wT W A -
1 1 1
==l
8 4 2 :
(1) 8 _ - 2) -16
(3) -8 (4) T A HE T

If AM. and GM. of two numbers 15 10 and 8 respectlvely, then find
their H.M,

o o | @ 12
e @) 64
% & Sl a0 ST A T e e e 10 TF 8 & & 3y
Wmaﬁﬁm indiresult.in whatsapp - 9352018749
1y 9 2 12
@) 6 @ 64

(' INDIRESULT@
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126 What is the correet formula for calculating the sum of numbers placed in 5
cell Al to A8 ?

(1) = sum(Al:A8) @) =sum(Al+A8) 8
(3) = sum(Al, A8) (4) None of these 58
qﬁﬁﬁq@ms%ﬁaﬁﬁﬁiw@m@ﬁmwmﬁmw%
(1) = sum(Al : A8) (2) = sum(Al + A8) 58
@) = sum(Al', ORI 4) wodw ¥ ¥ @ T | 5 8
127 The file extension used in MS-Excel file 1s -
(1) .doc ' _ (2) .exe
(3) .exel (4) .xls
TH.TH. Wﬁaﬁﬁmww@mﬁm%
(1) .doc (2) .exe
(3) . .exel (4) xIs
128 RAM stands for _ '
(1) Read Access Memory (2) Read After Memory -
(3) Random Access Memory (4) Random After Memory
(1) s wrRE A @) Te sitwer
(3) _ianqa%qﬂnﬁ (4) ivgqeﬁcrmﬁti‘r&
120 The size of IP Address generally used in internet is
(1) 24bit (2) 64 bit
(3) 32 bit 4) 16 bit
I GE 37&%‘«: ¥ e, q%aﬂr HY WG B #
1)y z24fwe 2) 64 e
(3) 32fe @ 1efwe
130 WWW stands for I : ' ' :
(1) World Wide Web ' _ (2) World With Web
(3) Web Wide World (4) Web With World
(1) = World Wide Web (2) World With Web
(3) Web Wide World (4) Web With World
131 Which one of the following is not a search engine 58
(1) Guruji (2) Google . 88
(3) Internet Explorer (4) Alta Vista ' 5 8
Pt ¥ § Pe-T v gom T8 ¥ P
(1) Guruji (2) Google _ 58
(3) Internet Explorer (4) Alta Vista 5 8

indiresult.in whatsa 9352
s PP - 9352018749,

OINDIRESULTE
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5 132 In tally contra account voucher is used for
. (1) To record payment of money by cash, cheque bank transfers, etc. .
58 (2) To record receipt of money by cash, cheque, bank transfers etc.

58 (3) To record transfer of funds between cash and bank accounts.

58 (4)  All of the above

| & ¥ B gwew AR W ¥ s %

58 o T, 4%, &% W gt @ e g g s i

Q) T, %,'%Wmmmm%-ﬁzﬁé%@

) mwh@éﬁwmwﬁﬂé%@ |

(4) Suw wedt o

133 The function key used to get income and expenditure account for any non
profit organization '

(1) TFi2 . 2) F11
(3) FI - - (4) None of the above
amt%aﬁw%mﬁaqﬁaﬁmﬁaﬁ%@ﬁ%%qﬁmm—aﬁmﬁ
(1) F12 @ Fn

(3) F1 | (4) IR N F B T8y

134 In Tally the option upload is used for
(1) To print a report
(2) To export reports in specified format
(3) To e-mail a report.
{(4) None of the above _
&N A e e won @ ¥
(1) e fr a2t & fag
) ﬁrﬁmqﬁ'ﬁzﬁﬁqﬁwﬂémﬁ%g
G) R fm % ¥g | |
@) IR F ¥ e

() Ctl+ M : @ Cul+N
(3) Cil+E (4) None of the above

58 %ﬁﬁ'%ﬁulmmﬁsﬁwﬁmﬁq&ﬁwffﬁﬁ%@q
MEF—A Wi A ¥ indiresult.in whatsapp - 93520187

: 135
5 8 ‘area, the short cut key used is

8 @ cwem | @ Cwl+N
58 () Ctl+E o (4) ST A ¥ B 4
58-C_B) [Contd...
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136 The loading of Operating System is called J - '
5§ 136 e s of Opring Syem 8 S (#)NDIRESULTE
58 (3) Debugging (4) Compiling -
0 Rt A AA AR E
00 (1) e @ =
) fafT | | (4) TR
58 137 Which one of the following is not a Computer Hardware ?
(1) Processor o ' - (@) Windows 7
(3) RAM (4) Hard Disk
frr F & DA w2 :
(1) wEEl R V) e 7
G ®| . (4) W FE
138 DVD is a type of
(1) Non-volatile storage (2) - Magnetic storage
(3) Semiconductor storage (4) Volatile storage
S35, few AR T ? |
(1) i AeeEd RIS @ FRm =R
@) TEERI B L @) FverRe W
139 Which of the following is a sequential device ?
) Magnetic disk . (2) Optical disk
"(3) Magnetic tape ' - (4) Al ofthe above
Pre A & BT sequential device ¥ 7 _ |
(1) wRE T () difafema R -
(3) THRkw (@) wudE w4
140 Which one of the following is not a input device ?
(1) Keyboard : (2) Touch-screen
(3) Scanner ~ (4) Speakers
Frmr & & B gge feamE T ¥ ?
(1) P | (2) T B
() = o @ ey
| 58 | indiresult.in whatsapp - 9352018749
141 When a software is stored in a ROM, it is called '
58 ' (1) Hardware _ (2) Firmware'
58 (3) Monitor (4) Loader
- o ez o e m H A b B ¥
R oo W= @ mE
5 @) wh | 4) @
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142. In MS-Power Point which one of the following short-cut-key..is  used for 5 8
Paste ‘Special .command ? : : R

() Al +E+§ | ) Ak+P+'S . 58

(3) At+F+U ’ (4) None of the above 58
MS-Power Point iT Paste Special ®are Syaht & &% % ol et 58
M- S s F ot & 7 - 58
(1) At+E+ 8 (2) Alt+P+S§ : ‘
3) At+F+Uu @) SRR F ¥ B @

143 In MS-Word which one of the following shortcut-key is used to Double
Underline the text -

(1) Ctrl + Shit + U 2 C+U
(3) Ctrl + Shift + D - (4)  None of the above

MS-Word & Rt & BT-dr shoncut-key 64t 9 text ' Double Underline
HH & D v A o wry & 2

(1) Ctl+ Shlft +U (2) Cul+U |
(B) Cul+Shit +D (4) ST ¥ & B w9
144 In tool meny of MS- Office, the option used for finding synonyms of a

word is _ :
(1) Language, Synonyms (2)  Grammar
3) Spelling and Grammar @ Language ‘Thesaurus
qwqaﬂﬁwﬁ%eﬁam%wmﬁmamﬁ%ﬁﬁwfrmﬁ%

| (1) Language, Synonyms (2 Grammar

(3) Spelling and Grammar _ (@) Language, Thesaurus

145 In MS-Word which one of the following shortcut- -key is used for Print Preview
of a file _

() Ak+F+v Q@ Cul+F+v 58
() At+F+uU 4 Cul+F+U .. Y

MS-Word el wIEw 1 Print Preview @ F WG B o el 58
(key) M H T & 1 diresultin whatsapp - 9352018749 38
M At+F+v 2) Cul+F+vy 8
() A1t+F+U 4 Cul+F+vU 8
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MS-Excel is a °, '
(1) Word Processing Application Software (.'{// INDI
(2) Spreadsheet Application Software v

(3) Database Management System Software

(4) Presentation Application Software

(1) a% AR Tk L TOE R

(2) Vs THBIT WETAL

(3) sERE e R YA

(4) TR TRBITT RN T LR

YOUR SUCCESS PARTNER

In MS-Word, margins of a page are set in

(1) File Menu (2) Insert Menu

(3) Edit Menu (4) View Menu :
@.@.ﬁﬁ%@fﬂﬁ%mﬁhﬂ%ﬁﬁﬂamﬁ%ﬁﬂ@ﬁmﬁ%ﬁ%_
(1) wEw q @ TeA |
6) whe @) R

Which is the correct formula for calculating largest number from the numbers
placed in Cell B1 to B7 ? _ '

(1) = Large(Bl, B7) : (2) = Large(Bl B7)

3) = Large(B1,B7,1) (4) = Large(B} :B7,1) :
Wﬁ%ﬁ—m@ﬁlﬁﬁ?%ﬁwmﬁﬁ%w@ra@ﬂwm_
ey % Tl e & fen w7 | |

(1) = Large(B1, B7) @) =Large(B1:B?)

(3) =Large(BLBT1) (4) = Large(BI:'B7,1)

In MS-Word which one of the following shortcut-key is used to insert a table

in a word-file '

(1) ALT +1+A+T (2) ALT+A+1+T

(3) ALT+I+TH A (4) None of the above :

Ms-wordﬁﬁ@aéwﬁmwém%%ﬁ gé—ehe A T F |

(1) ALT+I+A+T () ALT+A+1+T

(3) ALT+1+T+A 4y e ¥ F B T
~indiresult.in whatsapp - 9352018749

1n MS-Excel, Short-cut key to bring format cells dialog box is

(1) Cul +E @) Ctrl+1
@) cul+D - @ Cul+F
TR qﬁﬁﬁﬁﬁzﬂamﬁwfsﬁm e & FET HS T
() Ctul+E ' 2) Ctrl+1
(3) Cul+D | (4) Ctl+F

YOUR SUCCESS PARTNER

58-C_Bl /7 30 [Contd...
| @lNDlRESULTE "





